- —EGEERA : 12-17 S5
- BB : 3-100
- —ER B R E 94%

- 1 Stage-Minimal backlash: 12-17 arc-min
- Ratio: 3-100
- 1 Stage-High efficiency: 94%

31



RS
P SERIES ORDERING CODE

PG/PFIPX60 - L1 - 10 - Motor

RUSE E® BE
Model Stage Motor

PG/PF/PX60 L1: (Ratio 3-10) EERRRE ~ BUSR
PG/PF/PX90 L2: (Ratio 9-100) Motor Brand & Model
PG/PF/PX120 L3: (Ratio 120-1000)

R
Ratio
F2FE%E 34 B BRI AN -
Please refer to page 34 " Ratio Composition Table".

32



B Bl 2 REFIE R 7

PERMITTED RADIAL & AXIAL LOADS ON OUTPUT SHAFT OF THE GEARBOX

AN EERBMONNE

HEEE S : T RO N8 P
2 2 B 160 70 B S 1 ) S I s ) 2k A BE B AR - Rgﬂ
BRI - AR AR EE -

SRMOEBE - YRS BE - U

it ¢
Axil Load @ ===-1 --

The radial & axial loads are related to the speed and application point on output shaft.
The radial & axial loads are decreased when the output shaft runs faster.
The radial & axial loads are decreased when the application points away from root segment of shaft.

* Permitted Radial Load :The force exerts perpendicular to output shaft
* Permitted Axil Load :The force exerts parallel to output shaft

Emafrk
Radial Load Chart (PG/PF/PX)
3000
2500 \
2 ol
W 3 £ 2000
5 96 \ \
| 6 19500 —— PG60/PF60/PX60
B T 5 \ \ —— PGIO/PFI0/PX90
A L2 1000 ~— PG120/PF120/PX120
B EC \
A EE 0 [N
(N) & 8 S~—
)
5 0
0 500 1000 1500 2000 2500
1 ER (rpm)
Output Speed (rpm)
BEERBE
Load Factor Chart (PG/PF/PX)
1.8
16
1.4

\
| \\\ — PG60/PFE0/PX60
08 —— PGYO/PFI0/PX90
0.6 \\\ ~~=PG120/PF120/PX120
0.4 \\\
0.2 &

0.0

S S 28 YR
Position Load Factor

0 50 100 150 200 250 300

eI REEL H D ERARFRRIZEEE (mm)

Position X (mm)

33



FREINE ~ BELEEH
SELECTION REFERENCE TABLE & RATIO SELECTION TABLE

PR% FiEIKRE A2 ER(KIRFARESHLINERRERE)

P Series Selection Reference (Based on The Motor Output Torque)

tE#

Ratio

FENE s

Motor Output

—
=
w
—
=
~
N
=
o
—
=
=

1/9 110 112 115 1/16 1/20 1/21 1/25 1/28 1/30 1/35 1/40 1/49  1/50 1/70 1/100

Power Model

100W PGIPFPX60 @ @ @ © e e e e o o6 o o o o o o o o o o

200W PGFFPX60 @ @ © @ e e e e o o o o o o o o o o [ ] [ ]
PGIPFPX60 @ @ @ © e e e o e o o o o o o

oo PGIPFPX0 @ @@ @®© @@ e e e o o o o o o o o o o o o
PGIPFPX0 @ @@ ©®© ©®© e e e o o o6 o o o o o

o PGPFPX120 @ ® @ @ @ e e e o o o o6 o o o o o o [ ] [ ]
PGPFPX90 @ @ @®@ © e e e o o o o o o o

o PGPFPX120 @ @® @ @ @ e e e o o o o o o o o o o

1.0KW PGPFPX120 @ @® @ @@ @ e e e o o o o o o o o o o

1.5KW PGPFPX120 @ @® @©@ @@ e e e e o e o o o o o o o o

st
1 ARSI RRR T EE @ RN R
2. WERNREREMERAZ BE  WARABA—RBEY .
3. ERRTIEZ LY  NEBEBANLE TRE.

Note :

1. By the motor output power, select the suitable gearbox models with ' @ ' mark in above table.

2. When applied to a bigger torque or torsional rigidity mechanism, we suggest using a larger size gearbox.
3. Please contact us at vgm@vgmgear.com for ratios not being listed in above table.

P35I LEEHERL
P Series Ratio Composition Table
TR EY AR R R AR R LB

Ratio Table of each Stage

R RISE —ERU LR ZEREEE =ZERULEE

Model Stage (L1) Stage (L2) Stage (L3)

PG60 9°12°15°16°20° 2125 28"

PF60 3:4°5°7>10 30 35>

PX60 40°49-50° 70100

PG90 9-12°15°16°20° 2125 28"

PF90 3745710 30 35> 2736454860 758090
PX90 40495070100

PG120 9°12°15°16°20° 212528

PF120 345710 30 35> 27364574860 758090
PX120 40495070 100

34



EHEER

MOMENT OF INERTIA TABLE

P RIIBENEER

ERE EEEL PG/PX/PF 60 PG/PX/PF 90 PG/PX/PF 120
3 0.05 1.01 2.31
4 0.05 0.9 1.91
5 0.05 0.88 1.86
L1 ° - - -
7 0.05 0.86 1.8
8 _ _ _
g — - P
10 0.05 0.86 1.78
15 0.05 0.86 1.78
20 0.05 0.86 1.78
iifbigj? 25 0.05 0.86 1.78
30 0.05 0.86 1.78
35 0.05 0.86 1.78
40 0.05 0.86 1.78
L2 45 — — —
50 0.05 0.86 1.78
60 — — —
70 0.05 0.86 1.78
80 — — —
90 — — —
100 0.05 0.86 1.78
Stage Ratio PG/PX/PF 60 PG/PX/PF 90 PG/PX/PF 120
3 0.05 1.01 2.31
4 0.05 0.9 1.91
5 0.05 0.88 1.86
L1 ° - - -
7 0.05 0.86 1.8
8 _ _ _
g - - -
10 0.05 0.86 1.78
15 0.05 0.86 1.78
Moment of inertia Table 20 0.05 0-86 1.78
kg x om’ 25 0.05 0.86 1.78
30 0.05 0.86 1.78
35 0.05 0.86 1.78
40 0.05 0.86 1.78
L2 45 — — —
50 0.05 0.86 1.78
60 — — —
70 0.05 0.86 1.78
80 — — —
90 — — —
100 0.05 0.86 1.78

35



Fedi g aR

TECHNICAL SPECIFICATIONS TABLE

PRFI g
Technical Specifications

fﬁﬂ‘% . Eﬁi BB ﬂ',iiﬂ PG60/PF60/PX60 PG90/PF90/PX90 PG120/PF120/PX120
Specification Unit Stage Ratio
8 15 79 190
4 21 88 230
L1 5) 20 85 215
7 18 82 205
10 15 79 190
9 15 79 190
15 15 79 190
20 21 88 230
2.5) 20 85 215
L2 35 20 85 215
ARER R Nm 40 21 88 230
Normal Output Torque 49 18 82 205
70 18 82 205
100 15 79 190
27 — 88 230
36 — 79 190
45 — 79 190
L3 48 — 79 190
60 — 79 190
75 — 79 190
80 — 88 230
=
Z{EHH4E Emergency Stop Torgue Nm L1-L2°L3 3~100 25 Timezs.iigl\gfrﬁiﬂj;ﬂjgiiit Torque
HEMANR rom L1-L2-L3 3~100 3000 3000 2000
Normal Input Speed
RAWARE rpm L1-L2:L3 3~100 4500 4> 500 3000
Max. Input Speed
L1 3~10 <15~20 <12-17 <12-17
EHELEPE Standard Backlash arcmin
L2 9~100 <17~22 <15~20 <15~20
HEERI%E Torsional Rigidity Nm/arcmin L1 L2 L3 3~100 2 7.2 14
B AN m Max. Radial Load N L1-L2:L3 3~100 590 1700 21850
PN ) m Max. Axial Load N L1-L2-L3 3~100 825 840 1470
EIERASE Average Life Time hr L1-L2-L3 3~100 20 » 000
o L1 3~10 > 94%
R % L2 9~100 >91%
Efficiency of Full Load L3 27-100 > 86%
L1 3~10 1.1 3.6 8.6
JHE Net Weight kg L2 9-100 1.4 5.4 10.9
L3 27~100 — 7.3 13.2
fEFBE  Operating Temp C L1-L2:L3  3~100 -10°C ~ +90°C
A BB BRIE | =]
& Labrication L1L2-L3 3-100 Lithium Corﬁi?é?riiﬁiiambrication
LM Mounting Position L1>L2°L3  3-100 fEE7A
All Directions
BEE{E  Rumning Noise dBA L1+L2L3  3~100 <70 <70 <70

1. B BRI CRIETELLBNRRRARNG - T B AR ESTSLURBRSATRG < BiE.

TBSRLE, i = 8 A\ R,

BIAE  RIL2%EEER HHE TURTEZ 8.

BARERAREREED - BARHAMPOME - BEEEHRRE50% » #R100rpm @ R TFTAIRZ 25,
BEEAEAI<60%NT - FIERSMMIIREIEE  BFBEH=Z60% EEEERRT » THERZMAAEREZERENS0%LT.
6. IRFE © BEAR  ZEEE  BEBAER RO TG ZBIE.

1.Above relative specifications of each model most are measured on 5 : 1 gear ratio

2.Rations : | = Nin / Nout

3.Backlash : Measured on 2% of nominal output torque

4 Max. Radial and Axial Load : Applied to the output shaft center, and 50% of duty time and at 100 rpm
5.Duty Cycle < 60%, Average Lifetime = List Value; Duty Cycle = 60%, Average Lifetime < 50% List value
6.Noise Level : Numeric measured on idle running in 1m distance, and at nominal input speed

o hwN

36



45+

R~TE

DRAWING & DEMENSION

\ oL1

{ #D1

o

#D4

D ——

D6

R~F Size

L8

C9

D1
D2
D3
D4
D5
D6
D7
L1
L2
L3
L4
L5
L6
—E% (stage 1)
ZE% (stage 2)
=E% (stage 3)
L9
L10
L11
C1
Cc2
C3
C4
C5
C6
Cc7
Cc8
—E% (stage 1)
T E% (stage 2)
=E% (stage 3)
Cc10
Cc11
B1
H1

c9o
L2 L8 Cc8
L3 C10}
7l
8 B+ 1——i14Hds
L4 Ccé
L1 c4
PF60 PF90
70 105
5.5 6.8
12(14) 18(20)
40 80
17 25
M5 X 0.8P M6 X 1P
84.5 120
62 95
30(34) 57
3 15
1 2
20 25
3 5
48.5 56.5
67 84
— 111.5
3 4
14 18
10 10
70 100
M5 X 0.8P(MAX) M6 X 1P(MAX)
6~14 14~19
315 43.5
50 80
3.5 8
60 95
35 56
113.5(117.5) 169.5
132(136) 197
— 224.5
10 18
80 120
4(5) 6
13.5(16) 20.5(22.5)

5.

o

oc7 e
&

#C1

(B © mm)
(Unit * mm)
PF120
145
8.7
32(24)
80
35
M8 X 1.25P
160
120
70(60)
10
1
40
5
80
114
148
4
20
15
145
M8 X 1.25P(MAX)
19-24
61.5
110
T
120
T2
222(212)
256(246)
290(280)
30.5
160
10(8)
35(27)

* 31 : C1-Ce BIFERRARST @ BAHRERESERRRT - RIMKEERNEEMSE - BHRT BESHRARRFR I RS -

* Note : C1-C6 are metric standard specific dimensions of motor. Please contact us at vgm@vgmgear.com for other specification or customize

product.



R~TE

DRAWING & DEMENSION

[0°)
L2 L8 Cc8
. oLt , L3 C10} . oc7 S
—e | ——- %

: & ;

YA $ , M v, \
[Hoemaxs 49 = H——==d s 4 1\ )
\ 1 18] W - 8 \ [

% &l / o} /
R ] ] | -
—- N L4 cé6 \‘“/\@
#D2 IL1]] C4 ce
B
I (O
P
(BN * mm)
(Unit * mm)
R~ Size PX60 PX90 PX120
D1 70 100 145
D2 5.5 6.8 8.7
D3 16(14) 22(20) 32(24)
D4 50 80 110
D5 17 25 35
D6 M5 X 0.8P M6 X 1P M8 X 1.25P
D7 84.5 120 160
L1 62 95 120
L2 34 47 70(60)
L3 3 5 10
L4 1 2 1
L5 20 25 40
L6 3 5 5
—E% (stage 1) 48.5 66.5 80
L8 ZF% (stage 2) 67 94 114
=E% (stage 3) — 121.5 148
L9 3 4 4
L10 14 18 20
L11 10 10 15
c1 70 100 145
c2 M5 X 0.8P(MAX) M6 X 1P(MAX) M8 X 1.25P(MAX)
c3 6-14 14~19 1924
c4 31.5 435 61.5
c5 50 80 110
c6 3.5 8 7
c7 60 95 120
c8 35 56 72
—E% (stage 1) 117.5 169.5 222(212)
c9 ZF% (stage 2) 136 197 256(246)
=E% (stage 3) — 224.5 290(280)
c10 10 18 30.5
C11 80 120 160
B1 5 6 10(8)
H1 18(16) 24.5(22.5) 35(27)

E

product.

38

71 :C1-C6 RIFERRART » BRATUREREERNT - R KEBEADEME - WBHRT BESHRSFREI RS -

Note : C1-C6 are metric standard specific dimensions of motor. Please contact us at vam@vgmgear.com for other specification or customize



454

L8

Cc9

. oLt
- ~ @]
|
, \
AN
W\ ;F_ §
AN N
N—T—
#D2
Bl
T Q
b}
R~ Size
D1
D2
D3
D4
D5
D6
L1
L2
L3
L4
L5
L6
—EX (stage 1)
ZE% (stage 2)
=E% (stage 3)
L9
L10
C1
C2
C3
Cc4
C5
Cc6
(ox4
C8
—E% (stage 1)
T E% (stage 2)
=E% (stage 3)
Cc10
Ci1
B1
H1

R~TE

DRAWING & DEMENSION

45.

Cy

C9
L2 L8 C8
L3 C10}
I |
34 B8
2 L4 | cé
C4
PG60 PG90
50 70
M5 M6
12(14) 18(20)
40 60
17 25
M5 X 0.8P M6 X 1P
60 95
30(34) 47
3 5
1 2
20 25
3 5
48.5 66.5
67 94
— 1215
3 4
14 18
70 100
M5 X 0.8P(MAX) M6 X 1P(MAX)
6~14 14~19
31.5 435
50 80
3.5 8
60 95
35 56
113.5(117.5) 169.5
132(136) 197
— 2245
10 18
80 120
4(5) 6
13.5(16) 20.5(22.5)

N,

L
&

#C1

(B2 * mm)
(Unit * mm)
PG120
100
M10
32(24)
80
35
M8 X 1.25P
120
70(60)
10
1
40
5
80
114
148
4
20
145
M8 X 1.25P(MAX)
19~24
61.5
110
7
120
72
222(212)
256(246)
290(280)
30.5
160
10(8)
35(27)

* 31 C1-C6 BIFERBARSY - AARRERZERMAT - RIMEEER SEZME - R B A RE R I RIS -

*

product.

Note : C1-C6 are metric standard specific dimensions of motor. Please contact us at vgm@vgmgear.com for other specification or customize



VIGOR GEAR MACHINERY CO, Ltd

BETERHERAT

24872 Frdvh A [ AR B B — B 185 12572557

Address: No.25, Alley. 12, Lane. 1, Sec. 1, Zhongxing Rd., Wugu
Dist., New Taipei City 24872, Taiwan (R.O.C.)

TEL: +886-2-8982-0709

FAX: +886-2- 8988-2565

Email: vgem@vgmgear.com

Website: http//: www.vgmgear.com/

FT7hR 2018588
Version 7 AUG. 2018




